
(0 1):S[2] = 0.0.d3
(0 2):C[3] = 0.0.1 - 0.1.2 - 3.1.0
(2 0):C[9] = 2.1.1 - 2.0.2 - 1.0.0
(0 3):S[4] = 0.1.d3
(0 0):R[1] = 0.1.1 - 0.0.2 - 3.0.0 as Top_03 runs (_xc_test_combinable.xc compiled on Feb 24 2021 20:32:23)
(2 1):S[10] = 2.0.d3
(1 0):C[5] = 1.1.1 - 1.0.2 - 0.0.0
(1 1):S[6] = 1.0.d3
(2 2):C[11] = 2.0.1 - 2.1.2 - 1.1.0
(2 3):S[12] = 2.1.d3
(1 2):C[7] = 1.0.1 - 1.1.2 - 0.1.0
(1 3):S[8] = 1.1.d3
(3 0):C[13] = 3.1.1 - 3.0.2 - 2.0.0
(3 1):S[14] = 3.0.d3
(3 2):C[15] = 3.0.1 - 3.1.2 - 2.1.0
(3 3):S[16] = 3.1.d3
(0 1):s(   0)     2    11 with [    3] [    1] [    5] from (0 2) (0 0) (1 0) cnt  0  1  2 cli  3  1  5 con  1  2  0 \ 1 2 0 
(3 3):s(   0)    16    47 with [   13] [   15] [    3] from (3 0) (3 2) (0 2) cnt  0  1  2 cli 13 15  3 con 22 23  0 \ 1 2 0 
(1 0):c(   0)     5    21 with [    8] [    6] [    2] from (1 3) (1 1) (0 1) cnt  0  1  2 
(0 2):c(   0)     3    25 with [    2] [    4] [   16] from (0 1) (0 3) (3 3) cnt  0  1  2 
(0 3):s(   0)     4    15 with [    1] [    3] [    7] from (0 0) (0 2) (1 2) cnt  0  1  2 cli  1  3  7 con  1  2  3 \ 1 2 0 
(1 2):c(   0)     7    25 with [    6] [    8] [    4] from (1 1) (1 3) (0 3) cnt  0  1  2 
(1 3):s(   0)     8    41 with [    5] [    7] [   21] from (1 0) (1 2) (1 0) cnt  0  1  3 cli  5  7  5 con 10 11 10 \ 1 2 1 NotFair
(1 1):s(   0)     6    43 with [    7] [    5] [   25] from (1 2) (1 0) (1 2) cnt  0  1  3 cli  7  5  7 con  7  8  7 \ 1 2 1 NotFair
(2 0):c(   0)     9    74 with [   12] [   10] [   43] from (2 3) (2 1) (1 1) cnt  0  1  2 
(2 2):c(   0)    11    74 with [   10] [   12] [   41] from (2 1) (2 3) (1 3) cnt  0  1  2 
(2 1):s(   0)    10    43 with [   11] [    9] [   13] from (2 2) (2 0) (3 0) cnt  0  1  2 cli 11  9 13 con 13 14 12 \ 1 2 0 
(1 0):c(   1)    21    83 with [    8] [   43] [   11] from (1 3) (1 1) (0 1) cnt  3  4  5 
(3 0):c(   0)    13    53 with [   16] [   14] [   10] from (3 3) (3 1) (2 1) cnt  0  1  2 
(2 3):s(   0)    12    47 with [    9] [   11] [   15] from (2 0) (2 2) (3 2) cnt  0  1  2 cli  9 11 15 con 16 17 15 \ 1 2 0 
(1 2):c(   1)    25    87 with [    6] [   41] [   15] from (1 1) (1 3) (0 3) cnt  3  4  5 
(1 3):s(   1)    41   160 with [   11] [   25] [   83] from (2 2) (1 2) (1 0) cnt  2  4  6 cli 11  7  5 con  0 11 10 \ 0 2 1 
(3 2):c(   0)    15    57 with [   14] [   16] [   12] from (3 1) (3 3) (2 3) cnt  0  1  2 
(3 1):s(   0)    14    43 with [   15] [   13] [    1] from (3 2) (3 0) (0 0) cnt  0  1  2 cli 15 13  1 con 19 20  0 \ 1 2 0 
(1 1):s(   1)    43   160 with [   21] [    9] [   87] from (1 0) (2 0) (1 2) cnt  4  2  6 cli  5  9  7 con  8  0  7 \ 2 0 1 
(0 0):c(   0)     1    21 with [    4] [    2] [   14] from (0 3) (0 1) (3 1) cnt  0  1  2 
(0 2):c(   1)    25    98 with [   11] [   15] [   47] from (0 1) (0 3) (3 3) cnt  3  4  5 
(0 3):s(   1)    15    86 with [   25] [   25] [   21] from (0 2) (1 2) (0 0) cnt  4  5  3 cli  3  7  1 con  2  3  1 \ 2 0 1 
(3 3):s(   1)    47   182 with [   53] [   25] [   57] from (3 0) (0 2) (3 2) cnt  3  5  4 cli 13  3 15 con 22  0 23 \ 1 0 2 
(0 1):s(   1)    11   140 with [   25] [   21] [   83] from (0 2) (1 0) (1 0) cnt  3  5  8 cli  3  5  5 con  1  0  0 \ 1 0 0 NotFair
(1 0):c(   2)    83   295 with [   41] [  160] [   11] from (1 3) (1 1) (0 1) cnt  6  7  8 
(1 2):c(   2)    87   376 with [   43] [  160] [   86] from (1 1) (1 3) (0 3) cnt  6  7  8 
(2 0):c(   1)    74   324 with [   47] [   43] [  160] from (2 3) (2 1) (1 1) cnt  3  4  5 
(2 2):c(   1)    74   324 with [   43] [   47] [  160] from (2 1) (2 3) (1 3) cnt  3  4  5 
(2 1):s(   1)    43   244 with [   74] [   74] [   53] from (2 2) (2 0) (3 0) cnt  3  4  5 cli 11  9 13 con 13 14 12 \ 1 2 0 
(1 3):s(   2)   160   616 with [   87] [   74] [  295] from (1 2) (2 2) (1 0) cnt  7  5  9 cli  7 11  5 con 11  0 10 \ 2 0 1 
(3 0):c(   1)    53   186 with [   47] [   43] [   43] from (3 3) (3 1) (2 1) cnt  3  4  5 
(2 3):s(   1)    47   252 with [   74] [   74] [   57] from (2 0) (2 2) (3 2) cnt  3  4  5 cli  9 11 15 con 16 17 15 \ 1 2 0 
(1 1):s(   2)   160   693 with [   83] [   74] [  376] from (1 0) (2 0) (1 2) cnt  7  5  9 cli  5  9  7 con  8  0  7 \ 2 0 1 


